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There are in all 17 questions in this question paper. All questions are compuisory.
Question No. | is multiple choice type. Question Nos. 2 to 6 are definite answer type
questions, Question Nos. 7 to 11 arc very short answer type which are to be answered
in about 40 words cach. Question Nos. 12 to 14 are short answer type which are to be
answered in about 150 words cach. Question Nos. 15 to 17 are long answer type
which are to be answered in about 300 words each.

Marks allotted to all questions are mentioned against them.
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Four options are given in each part of question. Write the correct answer in your answer-book —

(A) ‘Hoe' is used for the purpose of -
(i} Sowing (i) [Irrigation
(i)} Secondary tillage (iv) Primary tillage

(B) Dibbler is used for the purpose of -

(i) Ploughing (if) Sowing
(1ii) Threshing (iv) Harvesting

(C) Cutting blades of chaff cutter machine are made of -
(1) Copper (i) Aluminium
(ii1) High carbon steel (iv) Castiron

. {D) The shoe of plough is made up of -

(i) Castiron (i) High carbon steel
(iii) Mild steel (iv) Tin

(E) ‘Carburettor’ is found in which type of engine -
(i) DPetrol engine (i) Diesel enginc
(1) Electric engine (iv} Nonc of the above

friRaa 589 u=

(Definite Answer Type Questions)

2. paR AR FrawEn Bt B 7

What is the function of radiator in tractor ?

3. Us geeay d fhas abdier g £ 7

How many squarc meters arc there in one hectare ?

4. gRar FmE I@E G dil B D 91 dew T wrg B E ?

Plants get which nutrient from the fertilizer named Urea ?
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5. SEAEER @ guan e | 1
Write the use of dynamometer.

6. HTONOVO3MRO BT g1 14 ffkad | 1
Write full form of LC.A.R. .

oy IOy ywE
(Very Short Answer Type Questions)

7. P g B @1 Amifed RE g | 2
Draw the labelled diagram of a country-plough.

8. UL 3o aur e T § ARR W A | 2
Differentiate between petrol engine and diesel engine.

9. PR T=i F W¥ & ST g | 2
Mention uses of rubber in agricultural implements.

10. ST & BT I T T B AW AR | 2
Write the name of different crop harvesting implements.

1. P H fag@ Hex @ B ar sudnr ke | 2
Writc any four uses of electric motor in agriculture.

oY Iy gge
(Short Answer Type Questions)

12. UF A 39 @ Il T AN @ BRON v 9T Parel w1 oo #ivE | 4
Explain the causes and remedies of over heating of a diesel engine.

13. ﬁwﬁﬁmﬁﬁawﬁmﬁﬁ%ma}mﬁﬁmaﬂﬂmaﬁmaﬁ?
S Hl &1 gei SR | ' 4
Mention various types of cultivators used in agriculture and write their functions.

14 &G AT an Fed Al wia @ itk e ged @t swd AR am
quia @SR | 4
Draw a labelled diagram of hand operated chalf cutting machine and describe its different parts.
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(Long Answer Type Questions)

15, qEReme B 9RafRE FIRA | uReRe & yorl #1 ool & g TR weR B
WoRepor & Igesy ff fafad | 6
Define tillage. Describe types of tillage and also write the objects of each type of tillage.

3°1ar (OR)
ATy W I FT GHI § 7 A B Sgavdl ¢d Rl & fwngde avis Al
What do you understand by ploughing ? Describe in detail the objects and methods of ploughing,

16. & fga Aier & o1d Rigra, g& Wi 1d SRl & fworgds oof R 6

Describe in detail the working-principle, major parts and working method of an electric motor.
Y4l (OR)

g & WA R 9m 9 aR Swewel & A iR | gard A RS et @

ol o |

Write the name of any four implemenis used for sowing. Describe different methods of sowing,.

17. & W et § a9 a9 @l gol A e 5 & 7 &) gut @ dE @ g 22 9o 2
e fya @ ufed @1 @rd 14 Mo & 3R RA & 500 TFHR # 20 0 I v ¥
gt ¥R 1 R s Fif | 6
There are five furrow openers in a seed drill and distance between cach furrow opener is 22 cm.
The diameter of the wheel of seed drll is 1.4 meter and the amount of sced sown in 500
revolutions is 20 kg. Calculate the sced rate per hectare.

HU4GT (OR)

U 2l g 20 W0 =@ e FIe @ R A A w3 feflo /e # e W
g A 10% WHE TR @ @ ) oA AR 5 10 v R &3 A @mE &
SR | ‘

A country plough making 20 cm. wide furrow. The speed of bullocks is 3 km./hour and the loss of
time during tuming of bullocks is 10% . Calculate the area sown in 10 hours.
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